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Answer ALL questions.
Write your answers in the spaces provided.

1 (a) State four stages a bill must go through to become an Act of Parliament.
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(c) Assess the effectiveness of the rules of statutory interpretation.

(Total for Question 1 = 20 marks)
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2 (a) Describe two types of delegated legislation.
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(c) Assess how effectively the courts control delegated legislation.

(Total for Question 2 = 20 marks)
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3 (a) State the role of lay magistrates in summary trials.
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(c) Evaluate the advantages and disadvantages of using lay people in the criminal
justice system.
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(Total for Question 3 = 20 marks)
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4 (a) State the meaning of mediation in civil dispute resolution.
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(c) Evaluate the effectiveness of the different types of civil dispute resolution.
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(Total for Question 4 = 20 marks)
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5 Evaluate if law should follow morality or whether morality should follow the law.
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(Total for Question 5 = 20 marks)

TOTAL FOR PAPER = 100 MARKS
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